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I. Cloze Test (20%; 2% each)

A Dog and a Cock, who were the best of friends, _ 1  very much to see
something of the world. So they decided to leave the farmyard and to set out into the
world along the road that _ 2 to the woods. The two comrades traveled along in the
very best of spirits and without meeting any adventure to speak of.

At nightfall the Cock, looking for a place to roost, _ 3  was his custom, spied
nearby a hollow tree that he thought would do very nicely for a night’s lodging. The Dog
could creep inside and the Cock would fly up on one of the branches. So said, so done,
and both slept very comfortably.

With the first 4

of dawn the Cock awoke. For the moment he forgot just where he
was. He thought he was in the farmyard where it had been his dutyto _ 5 the household

at daybreak. So standing on tip-toes he flapped his wings and _ 6  lustily. But instead of

awakening the farmer, he awakened a Fox not far off in the wood. The Fox immediately had
rosy __ 7  ofavery delicious breakfast. Hurrying to the tree where the Cock was roosting,
he said very politely:

“A hearty welcome to our woods, honored sir. I cannot tell you how glad I am to
see you here. I am quite sure we shall become the closest of friends.”

“I feel highly __ 8

, kind sir,” replied the Cock slyly. “If you will please go around
to the door of my house atthe _ 9  of the tree, my porter will let you in.”

The hungry but unsuspecting Fox went around the tree as he was told by the Cock,

andina _10  the Dog had seized him.

1. (A) cadenced (B) catered (C) tendered (D) wished
2. (A) directive (B) direction (C) led (D) lead
3. (A)as (B) like (C) when (D) while
4. (A)glaze (B) glen (C) glimmer (D) glean
5. (A) arouse (B) around (C) arrive (D) arrow
6. (A) crotched (B) crowed (C) crowded (D) crowned
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7. (A) virtues (B) visions (C) visors (D) vitae

8. (A) flapped (B) flapping (C) flattered (D) flattering
9. (A) buck (B) bucket (C) budge (D) foot
10. (A) twill (B) twinkling (C) turnkey (D) turnpike

I1. Reading Comprehension (30%; 2% each)

The rise of e-commerce has transformed the global retail landscape over the past
two decades. Online platforms like Amazon, Alibaba, and eBay have made it easier for
businesses to reach consumers worldwide. E-commerce allows customers to purchase
products from the comfort of their homes, saving time and effort. Additionally,
technological advancements in secure payment systems have helped build consumer
trust in online shopping. Despite its advantages, e-commerce comes with challenges.
Cybersecurity threats, such as data breaches and hacking, remain significant concerns
for both businesses and customers. Furthermore, the lack of a personal shopping
experience has led some consumers to continue shopping in physical stores. Many
retailers are now adopting a hybrid approach, combining online and offline channels to
meet customer expectations. Lastly, E-commerce continues to evolve with emerging
trends like personalized recommendations, same-day delivery, and augmented reality
(AR) shopping. These innovations aim to enhance customer experiences and address the
shortcomings of online retail. As e-commerce grows, it is likely to play an even more
integral role in the future of global commerce.

11. What is one advantage of e-commerce mentioned in the passage?
(A) It eliminates cybersecurity concerns.
(B) It allows shopping from home.
(C) It replaces physical stores entirely.
(D) It guarantees lower prices for all products.
12. According to the passage, what is a significant challenge of e-commerce?
(A) Lack of technological advancements
(B) Difficulty in accessing online platforms
(C) Cybersecurity threats like data breaches
(D) Limited delivery options
13. How are retailers addressing the drawbacks of e-commerce?
(A) By reducing prices
(B) By avoiding personalized recommendations
(C) By eliminating physical stores
(D) By combining online and offline channels
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Climate change poses a significant threat to global agriculture. Rising temperatures,
unpredictable rainfall patterns, and extreme weather events have disrupted crop
production in many regions. Farmers are struggling to adapt to these changes, which
affect food security and the livelihoods of millions worldwide. To combat these
challenges, researchers are exploring climate-smart agricultural practices. Techniques
such as drought-resistant crops, efficient irrigation systems, and precision farming aim
to increase productivity while reducing environmental impact. Governments and
organizations are also promoting sustainable farming to ensure long-term food security.
While these solutions show promise, they require significant investment and widespread
adoption to be effective. Education and training programs for farmers are essential to
promote the use of innovative practices. By addressing the impact of climate change on

agriculture, society can move toward a more sustainable future.

14. What is one way climate change affects agriculture, according to the passage?
(A) By causing unpredictable rainfall patterns
(B) By increasing crop production
(C) By making farming easier
(D) By reducing global temperatures
15. What is one solution to agricultural challenges mentioned in the passage?
(A) Using drought-resistant crops
(B) Abandoning farming in affected areas
(C) Relying solely on traditional farming methods
(D) Ignoring climate change
16. According to the passage, what is necessary to promote innovative farming
practices?
(A) Building more farms
(B) Implementing education and training programs for farmers
(C) Reducing investment in technology

(D) Avoiding government involvement

Electric vehicles (EVs) are becoming increasingly popular as concerns about fossil
fuels and greenhouse gas emissions grow. EVs rely on electricity instead of gasoline,
making them more environmentally friendly. Governments worldwide are offering
incentives to promote EV adoption, including tax breaks and subsidies. Despite their
benefits, EVs face challenges such as limited driving range, high production costs, and

the need for charging infrastructure. However, advancements in battery technology are



addressing these issues by improving energy storage and reducing costs. Major
automakers are investing heavily in EV development to meet consumer demand. The
adoption of EVs also impacts energy policies. As more people switch to EVs, the
demand for renewable energy sources increases, creating opportunities for cleaner
power grids. The shift to EVs is not just about transportation—it is a step toward a more

sustainable future.

17. What is one benefit of electric vehicles mentioned in the passage?
(A) They use gasoline instead of electricity.
(B) They are cheaper than traditional cars.
(C) They eliminate the need for charging infrastructure.
(D) They help reduce greenhouse gas emissions.
18. What is one challenge faced by electric vehicles?
(A) Lack of demand from consumers
(B) Too much reliance on renewable energy
(C) Limited driving range and high production costs
(D) Excessive use of fossil fuels
19. According to the passage, how are advancements in battery technology helping EVs?
(A) By improving energy storage and lowering costs
(B) By increasing gasoline consumption
(C) By eliminating the need for charging stations

(D) By reducing renewable energy use

Space exploration has advanced rapidly in recent years, with missions to Mars, the
Moon, and beyond. Private companies like SpaceX and Blue Origin are working
alongside national space agencies to make space travel more accessible. These efforts
aim to expand our understanding of the universe and explore possibilities for human
settlement on other planets. One key focus of current space exploration is the
development of reusable spacecraft. Traditional rockets are expensive and single-use,
but reusable designs lower costs and make more frequent launches possible. This
innovation has paved the way for ambitious projects, such as establishing lunar bases
and preparing for manned missions to Mars. However, space exploration also faces
challenges, including funding limitations, technological risks, and ethical concerns.
Questions about the environmental impact of rocket launches and the ethics of
colonizing other planets remain topics of debate. Despite these issues, the future of space

exploration promises exciting discoveries and advancements.
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20. What is one goal of space exploration mentioned in the passage?
(A) To replace national space agencies with private companies
(B) To explore possibilities for human settlement on other planets
(C) To reduce the number of space missions
(D) To eliminate reusable spacecraft
21. How are reusable spacecraft changing space exploration?
(A) They increase costs and limit launches.
(B) They make space travel less accessible.
(C) They eliminate the need for technology advancements.
(D) They reduce costs and allow more frequent launches.
22. What is one challenge of space exploration mentioned in the passage?
(A) Lack of interest from private companies
(B) Overuse of traditional rockets
(C) Technological risks and funding limitations
(D) Elimination of ethical concerns
23. What innovation has paved the way for lunar bases and Mars missions?
(A) Reusable spacecraft
(B) Single-use rockets
(C) Increased fossil fuel consumption
(D) Abandonment of technological advancements
24. What ethical concern is mentioned in the passage?
(A) The environmental impact of rocket launches
(B) The increased cost of space travel
(C) The elimination of national space agencies
(D) The reliance on traditional rockets
25. What does the passage suggest about the future of space exploration?
(A) It is limited to national agencies.
(B) It promises exciting discoveries despite challenges.
(C) It eliminates the need for reusable spacecraft.

(D) It avoids ethical considerations entirely.
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